
President truman's action upon hearing of the invasion of south korea
illustrated his commitment to a foreign policy of
Containment
 Truman had committed to check the expansion of communism and the soviet union through a number of mechanism that included giving of aid and left the
door for military intervention open. The south Korea intervention was important as the communist North and the soviet union were determined to take it over.
Which of the following does not describe a function of aggressive animal behavior? A. Aggressive behavior leads to fights that allow strong animals kill off
weaker members of the species. B. Aggressive behavior is displayed to establish territorial boundaries. C. Aggressive behavior is displayed to establish
hierarchy without violence. D. Aggressive behavior is displayed to determine who is allowed to mate.
Please read and answer each question carefully. 5. CNG containers need to be Inspected
A)
After the vehicle is rained on
B) O After the vehicle is parked outside for several hours
thic
C)
After the vehicle is involved in an accident or fire
to
YS
DO After the vehicle goes through the car wash
Which is the largest integer value of p that satisfies the inequality 4 + 3p < p + 1
Calcule: a) 64^ 1/2
b) 400^ 1/2
c) 8^ 2/3
d) (16/25) ^ 1/2
e) 100 ^ 0,5
f) 625 ^ 0,25
g) 32 ^ 1/5
h) (8/27) ^ 1/3
Water weighs about 8 .34 lb per gallon about how many ounces per gallon is the weight of the water
David bought 3.5 pounds of apples that sell for $1.28 per pound and 2.4 pounds of bananas that sell for $0.55 per pound. How much did David pay for his fruit
per pound?
Melanie had 67 dollars to spend on 7 books. After buying them she had 11 dollars. How much did each book cost?
Name a product that you regularly purchase from a firm that operates in an oligopolistic industry. Explain why the product and firm fit the model of oligopoly.



Think about the TV commercials and/or print advertisements that you’ve seen from this industry: What interdependence have you noticed between the firm you
selected and its rivals in terms of product differentiation, price leadership, or price competition? Explain your answer.
From this partial advertisement: Used car $93.38 per month for 60 months Cash price $4,200 Down payment $50 a. Calculate the amount financed. b. Calculate
the finance charge. (Do not round intermediate calculations. Round your answer to the nearest cent.) c. Calculate the deferred payment price. (Do not round
intermediate calculations. Round your answer to the nearest cent.)
An organism is multi-cellular, cannot move about freely, lives on land, and decomposes other organisms for food. Into which kingdom would this organism be
classified? - Plant
- Protist
- Fungus
- Archaea
Mitosis is responsible for growth, repair, and maintenance in an organism because A) it occurs at a faster rate than meiosis. B) the chromosome number is
reduced by half. C) exact duplicates of each mother cell are produced. D) it is the only process that involves replication of genetic material.
The Aryan migration began its spread into India through the Indus River Valley mainly because that area
1. The most significant influence on the life and art of Eugène Boudin was his A. relationship with the Pre-Raphaelites. B. return to city life after years as a
sailor. C. friendship with Claude Monet. D. love of the city of Venice.
Which is a late sign of increased intracranial pressure (icp)? headache irritability altered respiratory patterns slow speech?
Carlos has decided to go on a diet to bulk up. He wants to eat at least 350 grams of carbohydrates a day and at least 224 grams of protein a day. He wants to eat
no more than 70 grams of fat a day. Since Sasha is just eating diet packs at home he has looked into two brands of packs for bulking up. Bodybuilding Fast
which has 140 grams of carbohydrates, 41 grams of protein, and 11 grams of fat in each pack.

Bulking Up which has 70 grams of carbohydrates, 67 grams of protein, and 6 grams of fat in each pack.

a. Find three combinations of the two brands that meet his constraints.
HOW DO I FIND THE COMBINATIONS
What is the percentage of 35
Paleoclimatologists study ice cores to investigate Earth’s past climate. They use methods such as oxygen isotope analysis. Which feature inside the ice are the
scientists interested in analyzing and why? They search for the geological layer at which ice turns to water, which is an indicator of past precipitation data.

They seek single-celled microorganisms deep within the ice to assess the efficiency with which they processed oxygen.

They study air bubbles trapped in the ice, comparing their chemical composition between past and present.

They build a temperature and albedo profile of ice and water samples to predict when and where climate change is eminent.
true or false If electrons are shared equally between atoms that compose a molecule, that molecule is said to be polar.
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